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Halloween Addition

Solve the following word problems.

On halloween, Emma collected 33 candies from the
first block, 45 candies from the second block, and
22 candies from the third block. How many candies
did she collect in total?

In a halloween party, there were 39 kids dressed as
ghosts, 11 kids dressed as witches, and 28 kids
dressed as vampires. How many kids were there in
total at the party?

On halloween, a spooky house had 37 bats, 28
spiders, and 29 snakes. How many creatures were
there in total in the house?

In a halloween pumpkin carving competition, John
carved 22 pumpkins, Lucy carved 35 pumpkins,
and Tom carved 33 pumpkins. How many pumpkins
did they carve in total?

In a halloween treasure hunt, there are 41 gold
coins, 27 silver coins, and 19 bronze coins. How
many coins are there in total?

In a halloween costume contest, 28 people dressed
as zombies, 19 people dressed as mummies, and 21
people dressed as skeletons. How many people
participated in the contest?

7 In a halloween decoration, there were 22 orange
balloons, 41 black balloons, and 12 purple balloons.
4 ) How many balloons were there in total?
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